
  No. 
1.
2.
3.
4.
5.
6.
7.
8.
9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

Qty.
1
1
1
1
1
1
1
1
1
2
1
2
2
4
4
2
7
4
3
7
1
2
1
1
1
1

Part No.
03766-VUC
07321-VUC
11079-VUS
23135-VUW
647121
646971
071130
082078
082079
33857-VUF
33858-VUF
18201-VUB
180034
183009-DSR
18125-VUB
18151-VUB
18235-VUB
18977-VUB
18247-VUB
18979-VUB
182870
31603-VUD
31600-VUD
18250-VUB
18251-VUB
41117-VUP

Description
Condenser, 14” x 22”, Parallel Flow
Drier
Binary Switch, Male
Compressor Lead 
Bracket, Condenser, Upper Mounting
Bracket, Condenser, Lower Mounting
Clamp, Drier
Hardline, #6 Condenser/Drier
Hardline, #8 Condenser/Compressor
O-ring, #6
O-ring, #8
Spacer, 1/4” Length
Spacer, 5/16” Length
Bolt, 5/16-18 x 1 ¼”, Hex
Washer, 1/4” USS, Flat
Locknut, 5/16-18
Screw, #8 x 1/2”, Pan Head
U-nut, 5/16”
Screw, #10 x 1/2”, Sheet Metal
J-nut, #8
Bolt, 1/4-20 x 1/2”, Hex Flange
Adel Clamp, #4
Adel Clamp, #2
Screw, 10-32 x 1/2”, Pan Head
Nut with Star Washer, 10-32
Refrigerant Oil

** Before beginning installation, open all packages and check contents of shipment.

31

9

4

14 15 16

10

13

11 1287

5

6

2

17 18 19 20

21 22 23 24 25 26

Packing List: 
Condenser Kit (011153)




